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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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G3-2

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | XK R

06:25 169 100.0 2.16 |Z=| FiHRe06:25 KEFEF (FKPIEREE)
07:25 169 100.0 2.16 [=| FHAe07:25 KREIEF CGRAFZEESE)
08:55 169 100.0 2.16 =|  FiHRe08:55 FEFEF (KREEZERE)
10:25 169 100.0 2.16 |Z=| HHB@10:25 KEFERF (GRAERSE)
11:40 169 100.0 2.16 FA| FnHRe11:40 KHEIEF (REAERES)
12:55 169 100.0 2.16 FR| FifA@12:55 KENFEF (FRFAERE)
14:10 169 100.0 2.16 Pl FiHBe14:10 KEIEF (RAEREEE)
15:30 169 100.0 2.16 |/hfu| FiHR@15:30 KEFEF (KkAFEREE)
2it]1352.0 (8%) 800. 0 3HKEC: 2700, PH: 6.2

MERMEAEHBYIEE, i & RPHA BI46.5,10.5,6.5, REKK

FEREIPH (10.5) 5i&EPH (6.5) REK K, FRE
FEREPH (10.5) 5FMPH (6.5 REKK, FHRE
FRBVE NS K &PH 6. 25
HEEIRECE (2542. 0 vs 3362.0) RS
REZE NS KFHIKEC 2700. 0




ET (ml/hr/plant)

G3-2_0, Day=33 (2025-06-14)
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G3-2

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

06:05 169 100.0 2.16 |Z=| {Ri%e06:05 Bz (KREAEZEBE)
07:05 169 100.0 2.16 |Z=| {Ri%e07:05 Bz (KREAEZEHE)
08:05 169 100.0 2.16 (Z=| {Ri%e08:05 Bz (KRAEZSE)
09:05 169 100.0 2.16 (& =| {Rig@09:05 Bz (KRAEHSE)
10:05 169 100.0 2.16 FE| 1Ri%@10:05 Bz (KRS
11:55 169 100.0 2.16 FE| 1Ri&@11:55 B (REAERSE)
13:40 169 100.0 2.16 FA| 1BRi%@13:40 B3h (KRAHERSE)
14:40 169 100.0 2.16 FE| 1Ri%e14:40 Bz (GREAERSE)
2it]1352.0 (8%) 800. 0 IHKEC: 2250, PH: 6.4

unusual large postFgEt from yesterday (396), set to 300.0 ml.

MERFEREHEYIR S, M & 3E&PHA 21 46.5,10.1,6.5, RERX
BEXREBIPH (10.09) 5i&EPH (6.5) REK K, HRE
BEXREBIPH (10.09) 5FMPH (6.5) REK K, HRE
FREE NS KFHIBPH 6. 42

1 [E)KECE (2508. 0 vs 3408.0) B =
FRBVE NS RIFEREC 2250.0
LOREBIEC (2791.0) S5HEEIEY (2250) RER K, FRE.
EGERPH (10.6) 5i8EE (6.5) REKK, FHE.
ERGEBPH (10.6) SEEEW (6.4) RERK, HRE.




G3-2_0, Day=32 (2025-06-13)
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BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

05:35 254 100.0 2.16 FA| {RRi%@05:35 Bz (RAEEE)
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2it]2032.0 (8%) 800. 0 IHKEC: 2250, PH: 6.5
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2RI\ L PRIERE150. 0 ml.
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REE NS K RPH 6.5

HEEIRECE (2495. 0 vs 3390.0) RS
AN S RFHREC 2250. 0
LRGEBIPH (11.0) 5i8%E{E (6.5) RERK, BERE.
LRGERPH (11.0) S5#RBIE (6.5) RERK, BRE.
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G3-2

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:45 254 100.0 2.16 S| {Rige06:45 Bz (KRAMERSE)
07:30 254 100. 0 2.16 E BRi%e07:30 Bz (GRAERERE)
08:20 254 100.0 2.16 E|  {Ri1&e08:20 Bah (KRF{ERLEE)
09:20 254 100.0 2.16 = {Ri%@09:20 B (RAAERSE)
10:15 254 100.0 2.16 E BRi%e10:15 Bz (GRAERESE)
11:05 254 100.0 2.16 = Rige@11:05 Bah (RAEESE)
12:00 254 100.0 2.16 =l {Rig@12:00 B3 (RAERSE)
12:55 254 100.0 2.16 E BRige12:55 Bz (GRAERERE)
13:45 254 100.0 2.16 F BRige13:45 Bz CGRAERSE)
14:30 254 100.0 2.16 = {Rig014:30 B3 (RAERSE)
15:20 254 100. 0 2.16 F BRi&e15:20 Bz (GRAEREE)
16:15 254 100.0 2.16 El BRi&e16:15 Bz CGRAEREEE)
17:20 254 100. 0 2.16 El BRi&e17:20 Bz CGRAEESE)
23t 3302.0 (13%) 1300. 0 EGHIKEC: 2250, PH: 6.5

LORGEBRBTC R IR IR AR Y (254 vs 169.0))

2RI\ L PRIERE150. 0 ml.

RMERFERDHLB9IGE, i B KPHS 3I46.5,10.3,6.5, {REKK
FERZERPH (10.33) 5i&5EPH (6.5) REKK, BT
BEXRERIPH (10.33) 5FMPH (6.5) REK K, HRE
FREVE Y S KiFHRPH 6.5

FHEIKECE (2537.0 vs 3647.0) RS

RAE NS KIFIKEC 2250. 0

LORGEBIPH (10.2) 5i1&EE (6.5) WERK, BRE.
LORGEBIPH (10.2) S5#AEN (6.5) REKK, BRE.
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G3-2

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

06:40 197 100. 0 2.16 E 1BRi&e06:40 Bzl (RAERE)
07:30 197 100.0 2.16 E|  {Ri1&@07:30 Bah (RFE{EREE)
08:20 197 100.0 2.16 = {RRiB008:20 B (FRFAEEE)
09:10 197 100.0 2.16 S {Rig@09:10 Bz (KRAERSE)
10:00 197 100.0 2.16 5| {Ri%@10:00 B3 (RAERSE)
10:50 197 100. 0 2.16 El 1BRi&e10:50 Bzl (GRAERESE)
11:55 197 100.0 2.16 Sl {Rige11:55 Bz (REAERSE)
13:00 197 100.0 2.16 E| {Rig@13:00 B3h (RE{ERSE)
13:55 197 100.0 2.16 F BRige13:55 Bz (GRAERE)
14:45 197 100.0 2.16 S| {Rige14:45 B3 (REAERSE)
15:45 197 100. 0 2.16 E BRige15:45 Bz (GRAERESE)
16:45 197 100.0 2.16 F BRige16:45 Bz (CGRAERERE)
24t 2364.0 (12%) 1200.0 ZHIKEC: 2250, PH: 6.5

EORGERBTC R IR AR B E N (246 vs 161.0))

2RI\ LPRERE153.0 ml.

MEXMEREHB9IRE, i R iFHRPHA 5I46.5,10.3,6.5, REK KX
BEREBIPH (10.33) 5i%7EPH (6.5) RER K, 1HRE
FEREIPH (10.33) 5FMPH (6.5 REKK, T
FRENE S KiFHRPH 6.5

#H[EKECE (2635.0 vs 3830.0) RS

RAE NS KIFHIKEC 2250. 0

LORGEBIEC (2613.0) SHEAEY (2250) RERK, BHRE.
LERGEBIPH (10.4) 5i&FE{E (6.5) RERK, BFRE.
LERGERPH (10.4) 5B (6.5) RERK, BRE.
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